PEQ: Binder Schmidt Crust Model

cooo\uoucn-hlwr\)AI

10
1
12
13
14
15
16
17
18
19
20
21
22
23
24
25
2
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

T(m, n+1) =T(m-1, n+1) -(dX/(dX/2+z2))*(T(m-1, n+1) -TK)
T(m, n+1) =T(m-1, n+1) -(dX/(dX/2+22))*(T(m-1, n+1) -TF)
TW(n+1) =(T(m, n+1) +T(m+1, n+1))/2
T(m, n+1) =T(m-1, n) +T(m+1, n))/2
T(m, n+1) =T(m-1, n) +TK)/2
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500 Miles =2,640,000 ft
16x layers =165,000 ft/layer

Dtime =(dL"2/2/k) x Cp x de
Dtime = (1.65/2/ 20) x 200/ 8,500
Dtime=270/850x10"8=32M years
TQ =QL/Cp =180/0.18 =1,000F

Zo= 500 960
Zs= 140 600
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PEQ: Binder Schmidt Crust Model
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T(m, n+1) =T(m-1, n+1) -(dX/(dX/2+z2))*(T(m-1, n+1) -TK)
T(m, n+1) =T(m-1, n+1) -(dX/(dX/2+22))*(T(m-1, n+1) -TF)
TW(n+1) =(T(m, n+1) +T(m+1, n+1))/2
T(m, n+1) =T(m-1, n) +T(m+1, n))/2
T(m, n+1) =T(m-1, n) +TK)/2
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500 Miles =2,640,000 ft
16x layers =165,000 ft/layer

Dtime =(dL"2/2/k) x Cp x de
Dtime = (1.65/2/ 20) x 200/ 8,500
Dtime=270/850x10"8=32M years
TQ =QL/Cp =180/0.18 =1,000F
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Z0 =

140
10

600
11

R

<D)>DJG)R

m= LAYERS >

15

95

107

140

Copyright: Kartago Inc

50
76
93
106
116
124
132
138
144

41
82
90
102
112
120
127
134
139

29
69
87
100
109
117
124
130
135

62
83
96
106
113
120
125
130
134
38
83
92
101
109
115

50
126
219
325
441
565
697
835
979

41
123
213
315
427
547
674
808
947

463
532
619
719
828
945

1069

1199

1334

255
338
434
540
653
773
898
1028
1162
1200
83
92
193
302
417



PEQ: Binder Schmidt Crust Model

101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150

T(m, n+1) =T(m-1, n+1) -(dX/(dX/2+z2))*(T(m-1, n+1) -TK)
T(m, n+1) =T(m-1, n+1) -(dX/(dX/2+22))*(T(m-1, n+1) -TF)

TW(n+1) =(T(m, n+1) +T(m+1, n+1))/2

T(m, n+1) =T(m-1, n) +T(m+1, n))/2
T(m, n+1) =T(m-1, n) +TK)/2

Eo
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04
04

Es
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8

Billion years >>

CEJ: 2009-0724

Zo To.F
144 74
144 T
144 68
144 66
144 64
144 61
144 59
144 56
144 54
144 51
144 49
144 46
144 44
144 M
144 39
144 37
144 35
144 33
144 31
144 29
144 27
144 25
144 24
144 22
144 20
144 18
144 16
144 14
144 12
144 10
144 9
144 7
144 5
144 4
144 2
144 0
144 -2
144 -3
144 -5
144 -6
144 -8
144 -10
144 11
144 13
144 14
144 -15
144 17
144 -18
144 20
144 21

0
0

1 2
534 918

500 Miles =2,640,000 ft
16x layers =165,000 ft/layer

Dtime =(dL"2/2/k) x Cp x de
Dtime = (1.65/2/ 20) x 200/ 8,500
Dtime=270/850x10"8=32M years
TQ =QL/Cp =180/0.18 =1,000F
500 960 R
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PEQ: Binder Schmidt Crust Model

T(m, n+1) =T(m-1, n+1) -(dX/(dX/2+z2))*(T(m-1, n+1) -TK)
T(m, n+1) =T(m-1, n+1) -(dX/(dX/2+22))*(T(m-1, n+1) -TF)
TW(n+1) =(T(m, n+1) +T(m+1, n+1))/2

T(m, n+1) =T(m-1, n) +T(m+1, n))/2

T(m, n+1) =T(m-1, n) +TK)/2

TRANSITIONAL thresholds;

Biyefears Miles>> 31 63 94 125 156
1 00 16000 6460 6460 6460 6460 6460
3 01 22540 3000 4423 5288 5797 6090
6 02 51612 2072 3900 4606 5158 5571
11 04 4978 1438 2719 4000 4507 4949
19 0.6 5659 1119 2083 3041 3800 4291
27 09 6485 945 1725 2489 3245 3900
38 1.2 7352 812 1467 2110 2743 3372
50 1.6 8268 728 1300 1857 2402 2938
63 20 9207 667 1178 1675 2157 2627
74 24 10 163 623 1091 1545 1983 2405
84 27 11126 586 1020 1443 1850 2240
95 30 1290 550 949 1339 1716 2078

107 34 1359 519 889 1251 1603 1942
117 87 1435 550 949 1339 1716 2078
128 41 1514 495 842 1184 1518 1842
140 45 FF-6 474 800 1122 1436 1742

188 219 250

500 Miles =2,640,000 ft

16x layers =165,000 ft/layer

Dtime =(dL"2/2/k) x Cp x de
Dtime = (1.65/2/ 20) x 200/ 8,500
Dtime=270/850x10"8=32M years
TQ =QL/Cp =180/0.18 =1,000F
Zo= 500 960 R
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